1 2TL0040 (K 1 2”0040)

Linearized knot diagam

BN

3 5 6 9 2 12 11 4 6 7 10 9

Solving Sequence

: 2 - —> 4'11 -> —_— — — — — Ca.CR.C
A knot diagran{] 025232 L1004 o> 1207 2 11 > 8 = €385 €10

Ideals for irreducible component#ﬂ)f Xpar

I = (34u™ + 241u™ + - + 320 + 95, 27u*® + 149u* + - +32a + 121, u®® + 7u*? + -+ Su + 1)
IY = (—au+ 3b+ 2a, a® — a®u — a® — 3a*u + 12a%u — 6a® — Yau + 18a — 27, u? —u + 1)

* 2 irreducible components of dim¢ = 0, with total 55 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (34u*? + 241u** + .- - + 32b + 95, 27u*? 4+ 149u*! + .-

121, u*® + 7Tu*2 + ... +8u+1)

(i) Arc colorings

e ()

o= (o)
o= ()
u
a3 g US +
a; = (u =+ ud =+ u>
—0.843750u*2 — 4.65625u* + - - - — 25.8125u — 3.78125
—1.06250u*? — 7.53125u*! + - - - — 14.0313u — 2.96875
—1.90625u*? — 12.1875u*! + - - - — 39.8438u — 6.75000
—1.06250u*? — 7.53125u*! + - - - — 14.0313u — 2.96875
(u +u>
0.0312500u*! + 0.187500u%° + - - - + 0.218750u — 0.968750
312u42—%u41+ +£u—é
—0.156250u*2 — 0.687500u*! + - - - + 0.0312500u + 1.31250
—0.281250u*2 — 2.09375u*! + - - — 3.18750u — 0.406250
—0.125000u*2 — 1.53125u*! + - - - — 3.09375u — 0.843750
ain =\ 0.281250u%2 4 2.15625u4! + - - - + 4.62500u + 0.468750

1.28125u*? + 9.50000u*! + - - - + 47.5313u + 7.81250
ag = \ 0.875000u*? 4 5.59375u*! + - - - 4+ 9.15625u + 2.03125

(ii) Obstruction class = —1

21,42 _ 619, 41 887, _ 183
Teu T+ g U~ 73

(iii) Cusp Shapes = —5u

-+ 32a +



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u®® 4+ 29u?? - — 6u — 1

C2,C5 BT+ 8u+1

€3 uB -T2 —15u 42

C4, C8 ut® —u?? 4 .. 4 4096w 4 4096

Co ut® —9u*? ... £ 301u — 32
C7,C10 uB —3ut . —du+1

Co M 32 21

c11 B —19uP + - —2u—1

C12 u® — 13u*? + - — 396502u — 27289




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

‘1 y*? =23y - —T0y - 1

C2,Cs Y 429y - — 6y — 1
€3 y? =5yt 4. 4109y — 4

c4,Cs y* — 65y*% + - + 150994944y — 16777216
C6 y* — Ty*? + .- 4+ 2985y — 1024

C7,C10 yB 19yt 4 -2y —1
Cy y43—59y42+--~—2y—1
c11 yM 13y - By — 1
C12 y* — 119y 4 ... — 1101094234046y — 744689521




(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape

u = —0.108850 + 1.0199307
a = —2.54446 — 0.824031 0.432070 — 0.0707761 | —2.00000 + 0.1
b= 0.887627 + 0.8882021
u = —0.108850 — 1.0199307
a = —2.54446 + 0.824031 0.432070 + 0.0707761 | —2.00000 + 0.1

b= 0.887627 — 0.8882021

u = —1.03310

a= 1.81625 —5.16147 0.303180

b= —1.75986

= 0.631242 + 0.6971761
= —0.026925 + 1.0681001
= 0.114579 — 0.3603201

1.44756 + 4.150541

—1.66670 — 7.980211

0.631242 — 0.6971761
—0.026925 — 1.0681001
0.114579 + 0.3603201

1.44756 — 4.150541

—1.66670 + 7.980211

0.630221 + 0.8733401
= 0.381127 — 0.7681031
= —0.219981 + 0.2368811

0.968100 + 0.7937211

= 0.630221 — 0.8733401

= —0.219981 — 0.2368811

0.968100 — 0.7937211

—1.093460 + 0.0771721
1.96976 — 0.177341
—1.81042 + 0.056021

—9.35130 + 7.403391

0. —4.501001

—1.093460 — 0.0771721
= 196976 + 0.177341
—1.81042 — 0.056021

—9.35130 — 7.403391

0. +4.501001

0.356528 + 0.8292271
= —0.809224 — 0.5655491

u
a
b
u
a
b
u
a
b
u
a= 0.381127 4 0.7681031
b
u
a
b
U
a
b
u
a
b= 0.200199 + 0.3156011

—0.32126 + 1.547871

—2.12659 — 4.625071




Solutions to I7*

V=1 (vol + y/=1CS)

Cusp shape

= 0.356528 — 0.8292271
= —0.809224 + 0.5655491
= 0.200199 — 0.3156011

—0.32126 — 1.547871

—2.12659 + 4.625071

= —1.097840 + 0.0432811
= —1.97365 + 0.098991
= 1.81083 — 0.031241

—11.14880 4 1.857751

= —1.097840 — 0.0432811
= —1.97365 — 0.098991
= 1.81083 + 0.031241

—11.14880 — 1.857751

—0.231681 + 1.1078401
—3.17472 — 0.523431
1.31188 + 0.911411

—1.74448 — 7.624111

—0.231681 — 1.1078401
—3.17472 4 0.523431
1.31188 — 0.911411

—1.74448 + 7.624111

0.441020 + 1.0473001
= —1.087770 4 0.2508411
= 0.447924 + 0.0480171

—1.10611 + 1.423821

= 0.441020 — 1.0473001
= —1.087770 — 0.2508411
= 0.447924 — 0.0480171

—1.10611 — 1.423821

= —0.173823 + 1.1395601
= 2.91930 + 0.387261
= —1.21169 — 0.763101

—4.07750 — 2.666731

= —0.173823 — 1.1395601
= 291930 — 0.387261
= —1.21169 + 0.763101

—4.07750 + 2.666731

0.555429 + 1.0532501
= 0.937490 — 0.5600971
= —0.423819 + 0.1025451

> Q& €| & €|l & €| Q& €| Q2 &) Q@ &)l Q@ €|l & €|l & &> & &
|

—0.20886 + 5.679241




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 0.555429 — 1.0532501
0.937490 + 0.5600971
—0.423819 — 0.1025451

—0.20886 — 5.679241

—0.013036 + 1.2344401
2.43278 + 0.006911
—1.046990 — 0.4293201

—5.51855 — 0.230821

= —0.013036 — 1.2344401
2.43278 — 0.006911
—1.046990 +- 0.4293201

—5.51855 + 0.230821

0.067968 + 1.2572401
—2.24159 + 0.113001
0.972223 + 0.3221151

—4.39423 + 4.959241

0.067968 — 1.2572401
—2.24159 — 0.113001

U
a
b
U
a
b
U
a=
b
U
a
b
U
a=
b= 0.972223 — 0.3221157

—4.39423 — 4.959241

u = —0.51561 + 1.342541
a= 3.53483 — 0.699861
b= —1.90537 — 0.306701

—9.34262 — 5.507731

u = —0.51561 — 1.342541
a= 3.53483 + 0.699861
b= —1.90537 4 0.306701

—9.34262 + 5.507731

u = —0.57404 + 1.346891
a= 3.56336 — 0.812501
b= —1.96829 — 0.244901

—13.3037 — 13.33881

u = —0.57404 — 1.346891
a= 3.56336 + 0.812501
b= —1.96829 + 0.244901

—13.3037 + 13.33881

= —0.029590 + 0.5301311
1.15627 + 1.680611

u
a =
b 0.135978 — 0.7519141

1.74801 — 1.446341

0.320350 + 0.4047301




Solutions to I7*

V=1(vol + y/=1CS)

Cusp shape

= —0.029590 — 0.5301311
1.15627 — 1.680611
= 0.135978 + 0.7519141

1.74801 + 1.446341

0.320350 — 0.4047301

= —0.55869 + 1.362361
= —3.52852 + 0.792701
= 1.93730 + 0.243691

—15.2690 — 7.75211

= —0.55869 — 1.362361
= —3.52852 — 0.792701
= 1.93730 — 0.243691

—15.2690 + 7.75211

—0.50713 4 1.398891
—3.43056 + 0.735431
1.84983 + 0.244681

—15.7130 — 3.85891

—0.50713 — 1.398891
= —3.43056 — 0.735431
= 1.84983 — 0.244681

—15.7130 + 3.85891

= —0.48108 + 1.409121
= 3.38956 — 0.706821
= —1.81208 — 0.249521

—14.0896 + 1.79531

= —0.48108 — 1.409127
= 3.38956 + 0.706821
= —1.81208 + 0.249521

> Q@ €|l & €| & €| Q& 8| & 2| & &
|

—14.0896 — 1.79531

= 0.395813 + 0.3057391
= 0.39533 4+ 1.710621
0.047086 — 0.4614491

1.64146 — 1.442581

1.62393 + 1.372171

= 0.395813 — 0.3057391
= 0.39533 — 1.710621
0.047086 + 0.4614491

1.64146 + 1.442581

1.62393 — 1.372171

= —0.355224 + 0.3273551
= 0.46521 4 1.459961
= 0.831377 —0.6147001

0.49380 + 5.071251

—1.64078 — 7.142891




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.355224 — 0.3273551
0.46521 — 1.459961
0.831377 + 0.6147001

0.49380 — 5.071251

—1.64078 + 7.142891

—0.321614 + 0.1623531
—0.735715 — 0.8201691
—0.768263 + 0.2946641

—1.36971 + 0.610781

—6.09478 — 1.698881

—0.321614 — 0.1623531
—0.735715 + 0.8201691
—0.768263 — 0.2946641

U
a

b
U
=
b
U

a

b

—1.36971 — 0.610781

—6.09478 + 1.698881




II. I¥ = (—au + 3b+ 2a, —a®u — 3a*u+--- 4+ 18a — 27, u? —u+1)

(i) Arc colorings
0
ag = U
ag —
as =
az =

a; =

(ii) Obstruction class =1

(iii) Cusp Shapes
— _ 2,5 1.5__ 4.4 2.3, 4,34 5.2, 2 __ 2 10
=—5-a’u+ 3-a g u+ 5a°u — ga® + 3a°u —a s0u+ Fa Su + 2
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C3,C5 (u? —u+1)°
€2 (u? +u+1)°
C4,C8 ul?
Cg, C11 (ub — 3u® + 5ut — 4ud + 2u® —u + 1)2
c7,Cy,C12 (u6 —u® —ut 4203 —u—&—l)2
c10 (u® +u® —u* —2u® +u+1)3
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 (y2+y+1)6
Cs
ca, 8 y'?
Ce C11 (5 + y° + 5y* + 6y + 3y + 1)?
€7, €0, €10 (y® —3y° +5y* — 4y® +2° —y + 1)?
C12

12



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.500000 + 0.8660251
= 0.066864 + 1.3676701
= —0.428243 — 0.6645311

1.89061 + 1.105581

3.93112 — 2.764981

= 0.500000 + 0.8660251
= 1.217870 — 0.6259271
= —0.428243 + 0.6645311

1.89061 + 2.954191

0.42156 — 3.465521

= 0.500000 + 0.8660251
= —1.24734 — 1.31124]
= 1.002190 + 0.2955421

—1.89061 + 1.105581

—7.50338 — 2.589701

= 0.500000 + 0.8660251
= —1.75924 — 0.424611
1.002190 — 0.2955421

—1.89061 + 2.954191

—5.61650 — 4.082781

0.500000 + 0.8660251

= 2.09482 4 0.091941 —3.663141 | —4.13964 + 2.115091
= —1.073950 + 0.5587521

0.500000 + 0.8660251
= 1.12703 4 1.768201 7.722901 | —1.09315 — 8.264661

= —1.073950 — 0.5587521

= 0.500000 — 0.8660251
= 0.066864 — 1.3676701
= —0.428243 + 0.6645311

1.89061 — 1.105581

3.93112 4 2.764981

0.500000 — 0.8660251
1.217870 4 0.6259271
—0.428243 — 0.6645311

1.89061 — 2.954191

0.42156 + 3.465521

0.500000 — 0.8660251
—1.24734 +1.311241
1.002190 — 0.2955421

—1.89061 — 1.105581

—7.50338 + 2.589701

0.500000 — 0.8660251
= —1.75924 4 0.424611
= 1.002190 + 0.2955421

> Q& €|l & €|l & €| Q& €| €| Q@ &l & €|l & €|l & €| & &
I

—1.89061 — 2.954191

—5.61650 + 4.082781
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Solutions to I¥ Vv—1(vol +/—1CS) Cusp shape

= 0.500000 — 0.8660251

2.09482 — 0.091941 3.6631471 | —4.13964 — 2.115091
—1.073950 — 0.5587521

0.500000 — 0.8660251

1.12703 — 1.768201 — 7.722901 | —1.09315 + 8.264661
= —1.073950 + 0.5587521

u
a
b
u
a
b
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u? —u+1)5)(u* +29u*? + - — 6u — 1)
C2 (W +u+ 1)+ 7u? 4+ +8u+1)
C3 (u? —u+1)%W*® —7u*? 4+ .- — 15u+2)
e u'?(u®® — u'? + - -+ 4 4096 + 4096)
€5 (W —u+ 1) (u*® +7u*? 4+ +8u+1)
6 (uS — 3u® 4 5u* — 4u® + 2u® —u + 1)%)(u*® — 9u*? + - + 301u — 32)
7 (uf —ud —u +2u® —u+ 1)) (u*® = 3u*? + - —du+1)
€9 (u® —v® —u* +2u® —u+1D?) (™ +3u*? + -+ 4% +1)
€10 (uS +ud —ut —2u® +u+ 1)) (u*® = 3u*? + - —du+1)
c11 ((ub = 3u® + 5u* — 4u® + 2u% —u+ 1)) (u*® —19u*? + - —2u — 1)
c12 (u® —u® —u + 2u® —u+1)?)(u®® — 13u*? + - - — 396502u — 27289)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

“ (" +y+ DO (Y" —23y" + - — 70y — 1)

Ca, 5 (2 +y+ D) (" + 299" + - — 6y — 1)
e (0" +y+ D)%) (" = Ty™ + -+ 109y — 4)

€4, Cs Y2y — 65y*% + - 4 1.50995 x 10%y — 1.67772 x 107)
6 ((° +9° + 5y* + 6y° + 3y + 1)*) (y* — Ty** + - - - + 2985y — 1024)

c7,Cl10 (% —3y° + 5y —dy® + 20 —y+ D)D" — 1992 + ... — 2y — 1)
€ ((y° = 3y° +5y* —dy® + 20> —y +1)*)(y* =59y +--- =2y — 1)
ci ((° +9° +5y* + 69> + 3y +1)°) (y* + 13y** + .- — 5y — 1)
1 (v° —3y” +5y" — 4y® + 2% — y + 1)

S(y* = 119y*2 + .. — 1101094234046y — 744689521)
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